(4) HEEHRE
BEAT : mGy

N R EHLA W E R
\4/) Rk 2943 A 15 H~ | Frk 2946 A 21 H~ | FEak 294 9 H 21 A~ |FEpk 294 12 A 21 H~
- HiLE4, FR 2946 A 200 | FRK2949 A 200 | PRk 294 12 A 20 A | K304 3 H 13 B
& (98 H fEFLfE) (92 H EFE) (91 A FEFLfE) (83 H FEFE)

L | #HAGET 7 E R = 0.15 = 0.14 - 0. 14 - 0.12
2 b FUEAR = 0.17 - 0.16 - 0.16 - 0.14
3 ¥ AR - 0.15 - 0.14 - 0.14 - 0.13
4 vE I = 0.15 = 0.14 = 0.14 = 0.12
17 R = 0.17 = 0.16 = 0.16 = 0.14
18 = = 0.16 - 0.15 - 0.15 - 0.13
19 & W 0.16 0.17 0.16 0.16 0.15 0.15 0.14 0.14
21 R R = 0.16 = 0.15 = 0.15 = 0.13
22 o = 0.18 - 0.17 - 0.17 - 0.15
23 N3 0.16 0.16 0.15 0.15 0.15 0.15 0.13 0.13
24 TEAMAR - 0.16 - 0.15 - 0.15 - 0.13
25 Ko 4 = 0.16 = 0.15 = 0.15 = 0.13
26 U = 0.15 = 0.14 = 0.14 = 0.12
27 Ya 5T = 0.16 - 0.15 - 0.15 - 0.13
28 A AT - 0.16 - 0.15 - 0.15 - 0.13
29 Al = 0.15 = 0.15 = 0.14 = 0.13
30 % B = 0.15 = 0.15 = 0.14 = 0.12
31 VTR - 0.15 - 0.14 - 0.14 - 0.12
32 U R ALVER LS - 0.15 - 0.15 - 0.14 - 0.13
33 [y y=y = 0.16 = 0.15 = 0.15 = 0.13
34 R 0.15 0.15 0.14 0.14 0.14 0.14 0.13 0.12
35 T 0.17 0.17 0.17 0.16 0.16 0.16 0.15 0.14
36 B N RAE - 0.16 - 0.15 - 0.15 - 0.13
58 %6 4y 0.16 0.16 0.15 0.16 0.15 0.15 0.14 0.13
38 L - 0.14 - 0.14 - 0.14 - 0.12
39 L SR = 0.15 - 0.15 - 0.15 - 0.13
40 CYRLLEL] - 0.14 - 0.14 - 0.13 - 0.12
41 B = 0.16 = 0.15 - 0.15 - 0.13
42 P =4 H 0.16 0.16 0.15 0.15 0.15 0.15 0.14 0.13
43 R = 0.19 = 0.18 = 0.17 = 0.15
44 H W 0.14 0.14 = 0.13 = 0.12

1) ¥R2946 A 21 A

WCHES T2 2N E T

D HA~K
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HEAL : mGy

R T E Hh W E E
\4/’ PR 2943 A 15 H~ | FRk 2946 A 21 H~ |3FAR 294 9 A 21 A~ |"FRR294E 12 A 21 A~
8 H 5 4, PRk 2946 A 200 | k299 A 200 | Fk 29412 A20 0 | Rk 3043 A 13 H
i3 (98 A RHFIE) (92 AR (91 FEHIL) (83 AFHFLIH)
5 R HE B HE L HE R HE
45 EFTRT S 5 = 0.15 = 0.15 = 0.14 - 0.13
46 o 0.16 0.16 0.15 0.15 0.14 0.15 0.13 0.13
47 AT BB 0.15 0.16 0.15 0.15 0.14 0.14 0.13 0.13
48 FEW RN - 0.16 - 0.15 - 0.15 - 0.13
49 PR RAE 0.15 0.15 0.14 0.15 0.14 0.14 0.13 0.13
5 & 15 0.15 0.15 0.14 0.14 0.14 0.14 0.12 0.12
6 g = 0.15 - 0.14 - 0.14 - 0.13
7 H 3PN 2 = 0.16 - 0.15 - 0.15 - 0.13
8 TR 0.15 0.16 0.15 0.15 0.14 0.15 0.13 0.13
9 =R = 0.14 - 0.13 - 0.13 - 0.11
10 EOR - 0.16 - 0.15 - 0.15 - 0.13
11 [ 0.16 0.16 0.15 0.15 0.15 0.15 0.13 0.13
12 m R = 0.14 = 0.13 = 0.13 - 0.12
L3MBCZ i Y B 587 0.14 0.14 0.13 0.13 0.13 0.13 0.12 0.12
14 HiBE 5 R H = 0.14 = 0.14 = 0.13 = 0.12
15 HIBE 5 /N 0.16 0.16 0.15 0.15 0.15 0.15 0.13 0.13
16 IFH 5 2 = 0.16 = 0.16 = 0.15 - 0.14
20 & = 0.17 = 0.16 - 0.15 - 0.14
50 wILRE = 0.16 - 0.15 - 0.15 - 0.13
51 REHHARE 0.16 0.15 0.15 0.15 0.14 0.14 0.13 0.13
52 AR T4 0.16 0.16 0.15 0.15 0.15 0.15 0.13 0.13
53| #MIT  FiR/NERE 0.17 0.17 0.16 0.16 0.15 0.15 0.14 0.14
54 KA = 0.16 - 0.15 - 0.15 - 0.13
55| 51T FEILEELERT 0.15 0.15 0.14 0.14 0.14 0.14 0.13 0.13
56 SEE - = 0.16 - 0.15 - 0.15 - 0.13
57 RN - 0.16 - 0.15 - 0.14 - 0.13
% | FHWE P 0.14 0.14 0.13 0.13 0.13 0.13 0.12 0.12
E BET BT 0.13 0.13 0.12 0.12 0.12 0.12 0.11 0.11
A | BT bR 0.18 0.18 0. 17 0.17 0.16 0.17 0.15 0.15
AT F ) IET 0.14 0.14 0.13 0.13 0.13 0.13 0.12 0.12

E2) Wk 2943 A 16 HICESFTZ 2 E TLYEHRAK In Bk LT,
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2 BREHUEIR O RE

(1) &7 NT 7 - &X—FHEE (FEEE)

O H£EFETNLT 7 - & EEHEE HAAT  —
_— T A I I 7 fifE
T 7E Hh s 44 H TONE | el T 54 H YN R

4 H D 3.3 4 H 2.2 3.1
5 H * 3.4 5 H 2.3 3.1
6 H * 3.4 6 H — —
7H * 3.3 7H — —
8 H * 3.5 8 H - -
R T 9 A 2.5 3.3 AR T 9 A — —
SRS 10 H * 3.2 SEERIN= 10 H — —
11 A 2.5 3.3 11 A — —
12 A 2.6 3.5 12 A — —
1 A * 3.4 1 H — —
2 H 2.4 3.3 2 A — —
3 H * 3.6 3 H 2.2 2.6
4 A 2.3 3.6 4 H 2.2 3.4
5 H 2.3 3.8 5 A 2.2 3.1
6 H 2.3 3.4 6 H 2.3 3.3
7H 3.1 7H * 3.5
8 H 3.1 8 A * 3.8
R T 9 A 2.2 3.0 Bz 5 9 A 2.3 3.1
T 10 H 2.2 3.1 HFE J5 /N 10 A 2.3 3.2
11 A 2.3 2.9 11 A 2.2 2.9
12 A 2.2 3.0 12 A 2.3 3.2
1 A 2.1 2.9 1A 2.2 3.0
2 A 2.2 2.8 2 H 2.1 2.9
3 H * 3.0 3 A ¢ 2.9
4 H 2.4 3.2
5 H * 3.3
6 H 2.4 3.4
7H 3.6
8 H 3.5
R T 9 A 2.4 3.5
Vo 10 A 2.3 3.5
11 A 2.4 3.1
12 A 2.4 3.2
1A * 3.3
2 A 2.4 3.1
3 H * 3.5

FELD D) x, TLTD : BHIRARR ) 237,
TE2) AR 294E5 B 22 H~YRK 304E 3 A 26 HOM. BIERERHRTLEDO-D, RElE 2> TWS,
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Q@ HEEHOEN—F K6

AT : Bg/m®

N—— W E A N ] E fif
) E Hh A A A T TR 7 o g 44 A FYNEN T
4 H *!) 8.2 47| 0.15 6. 4
5 A * 8.1 5H | 0.24 6.1
6 H * 8.3 6 A - o
7H * 6.2 7H — —
8 A * 6.5 8 A — -
I RITE T 9 H 0.27 8.8 N RITIR T 9 A — —
b 10 H * 12 EPRYNES 10 H — —
11 A 0.75 7.2 1A - o
12 A 0.48 8.4 12 A — —
1A * 12 1A — —
2 A 0.75 8.0 2 A — —
3 A * 8.7 3H | 0.50 5.6
4 A 0.18 7.8 48| 0.17 5.7
5 H 0.16 6.9 5H | 0.24 5.8
6 H 0.18 7.6 6H | 0.15 6.7
7H * 6.1 7 H * 6.1
8 A * 6.2 8 A * 6.5
VR 7 9 A 0.26 8.8 oo JET 9H | 0.25 5.1
T 10 A 0.19 10 LD INE = 3 10H | 0.20 8.7
11 A 0. 77 7.3 11 A | 074 5.6
12 A 0. 47 8.7 124 | 0.48 5.6
1 A 0.16 12 1H | 0.18 7.9
2 A 0.72 8.0 28| 0.73 6.3
3 A * 8.2 3 H * 6.8
4 A 0.18 7.4
5H * 6.5
6 A 0.18 7.8
7H * 6. 4
8 A * 5.3
T 9 A 0.27 6.2
55 10 H 0.21 8.2
11 A 0.78 6.4
12 A 0.52 6.1
LA * 8.6
2 A 0. 81 7.7
3 H * 7.1
ELD ) %, TLTD : MR 28T,

E2) Fpk 2945 H 22 A~Fp 30423 A 26 H O], MEREBH LEDID, RELR>TND,
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@ BT 6 KpfHik O e — 2 R

BAL @ Bg/m’

N W) E A N T fiE
T 7 g 44 A o | T T i A 4 A SN —
4 H *!) 0.25 4 H * 0.19
5 H * 0. 37 5 H * 0.17
6 H * 0.38 6 - o
7H * 0.26 7H — —
8 H * 0.22 8 A — —
T RITIRY T 9 H * 0.20 TN AT T 9 A — —
SE% 10 H * 0.27 ERRPINE 10 A — —
11 H * 0.16 11 A — —
12 A * 0.18 12 A — —
1A * 0.15 1A - -
2 H * 0.23 9 H - o
3 H % 0.24 3 A * 0.10
4 A * 0.21 4 H * 0.25
5A * 0. 20 5 A * 0.29
6 H * 0.21 6 A * 0. 24
7 H * 0.15 7 H * 0.15
8 A * 0.16 8 A * 0. 14
EVRITIRE 9 H * 0.18 o Niil 9 H * 0.22
R HT 10 A * 0.20 HGE 7 /N 10 A * 0.24
11 A * 0.15 11 A * 0.13
12 A * 0.18 12 A * 0.21
1 A * 0.17 1 H * 0.12
2 H * 0.19 2 H * 0.11
3 H * 0.20 3 A * 0.26
4 A * 0.17
54 * 0.16
6 A * 0.15
7 H * 0.17
8 H * 0.13
AHAITIRE T 9 A * 0.12
55 10 A * 0.19
11 H * 0.11
12 H * 0.13
1 A * 0. 082
2 H * 0.11
3 A * 0.16
HELD k) ik, TLTD : BHBBARR ) 2R 7,

H2) PR 29 45 H 22 H~ K 30 47 3 H 26 A O], MEREBR LEDOD, KHllE>TND,




(2) KM

T HEEROAT (W~ )

O FiEE BT : mBg/m®

PR S 4 FR U R “Mn | ¥Fe | ®Co | ®Zr | ®Nb | s | ¥Cs | MCe
2944 3 H~294 4 A 30H * D * * * % * * *
294E5H 1 H~294 5 H 31 H * * * * * % % %

2926 1 H~294 7H2H * * * * % * * *

29 7TH3H~294F TH31H * * * * % * * *

2048 H 1 H~294F 8 H31H * * * * * * * *

EIFETH | 2949 H 1 H~294 10 H 1 H % * * * * % % *
H ® | 204510 H2 A~204E10 H31 B | * * * * * * *
204F 11 H1 B~294E11 H30H % * * * sk *k |0.0088|

294212 H 1 A~304 1 H 3 H * * * * * % % %

3041 H4H~3041H 31H * * * * % * 0.011 *
3042H 1 H~3042H 28 H * * % * ¥ % 0.011 *
30FE3H1H~3044H1H * * * * % * * *

294E 4 H3H~294 4 H30H % * * * * * * *

204E5 1 H~294 531 H % % % * * % | 0.011 %

294E6 41 H~294 7H 2 H * * * * % * * *

29FT7H 3 H~294 7H 31 H * * % * * * * %

2948 1 H~294 8 A 31 H % * * * * * * *

EIEGRTTH | 2949 H 1 H~294 10 H1H * * * * * % % %
BT | 294210 A 2 B~294E 10 A 31 A * * * * * % % %
294E11 A1 H~294£11 A 30 H % * * * * * * *

29212 H 1 A~304 1 H3H * * * * * * * *

3041 H4H~3041H 31H * * * * 2 % % %
3042H 1 H~3042H 28 H * * * * % * * *
30FE3H1H~3044H1H * * * * % * * *

294 4 H3H~294 4 H 30 H * * * * * % % %

2945 H1H~294 5 H31 H * * * * * * * *

2946 H1H~294 7TH2H % * * * * * * *
294E7TH3H~294 7THS3LH * * k * * * * *

204E8 41 H~294 8 H31 H % * * * % * * *

ERTRH | 294E9 A 1 H~294E 10 H 1 H % * % * % % % *
¥ % | 20410 A2 A~294E10 A 31 A * * * * * % [0.0000| =
204211 H1 H~294£11 A 30 H * * * * * % % %

29412 A1 H~304 1 A3H % * % * % % | 0.012 %

3041 H4H~3041H 31H * * * * 2 % % %
304£2H 1 H~304£2 H 28 H % * * * sk * * *

303 H1H~3044H1H * * % * % % % %

ELD ) %, IND:BHEEnT) 2F£7,
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BT : mBg/m’

PRI S 4 R AT “Mn | *Fe | ®Co | %Zr | “Nb | ®iCs | ¥Cs | MCe
294FE4 4 3 H~294 4 A 30H * 2 % * % % sk % *
295 71 H~29% 5 1 22 H ok * * * ok * * *

VAR T — - — — - - — - —

HR/ R — — — — — — — — —
304-3 A 26 H~304-4 A 1 H * * % * % * * *
2944 H 3 H~294F 4 330 H * * * % * £ * *
294E5H1H~294 5 H 31 H * * * * * % % *
296 H1H~294E 7TH2H % % * % * % * %
294 7TH3H~294 7 31 H * * * % 2 £ % *
2948 H1 H~294 8 H31 H * * * * * % % *

Wi | 2949 H 1 H~294 10 1 H * * * % * % * *

HEINAR | 2945 10 H 2 H~294F 10 A 31 A * * * * * * * *
294 11 H1 H~294E11 H 30 H * % * % % % * *
2912 H 1 H~304 1 H3H * * * * * * * *
3041H4H~3041H 31H * %k * % * % * *
3042H 1 H~3042H 28 H * * * % * % % *
303 A1 H~3044H1H * * * % % % * *

D FR 2945 A 22 H~ik 30 4 3 A 26 H O], HIEREEER LEOD, KHlER>TnD, BiX

TR AR E & i L7,
H2) k) iE, IN:BiHEhT) 2£7,
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@ BT EAT : Bq/m?

R 4 PRHIH] MEHEES| Mo | ®Fe | ®Co | ®Zr | ®Nb | ®iCs | "Cs | MCe
294 4H 3H JL28 x D % % * % * | 0.060 | =k
~294E 4 4 30 H R * * * * * * [ 0.062 | =k
294 5H 1H [I=X 3 % % * * % | 0.066 |
~294% 5 H 31 H HiE * * * * * * 0. 057 *
294 6 H 1 H JI=X % % % % % k| 0.087 | %
~294-7H 2 H g * * % * % % | 0.073 | %
294 7TH 3H I8 x 3 3 * * k| 0.039 | sk
~294F 7T A 31 H i * * * * * * % %
294 8H 1H 8 * * * * * * * *
~294 8 A 31 H E * * * * * £ %k %
294 9H 1H [I=X % % % * * % % *

R T ~294 10 1 H i |k * * * % % 0.079 | *

T 2945 10 H 2 H 12X * * % * * % | 0.061 | *
~294F 10 H 31 H E % * % * % % | 0.050 | *
294 11 H 1 H JI=X * * * * % k| 0.038|
~294F 11 H 30 H g % * % * % k %k *
204 12 H 1 H 12} * * E2 * * * | 0.12 *
~304 1 H3H g * * * * £ * * %
3041 H4H o8 * * * * * * 0. 091 *
~304%1H 31H e * * * * * k | 0.10 | *
302 H1H =N * * * * * * 0.12 *
~304:2 H 28 H g * * % * % % |0.096 | sk
3043 H1H JI=X * * % * * * | 0.16 | k
~3044 H 1H i * * % * * 10.080| 0.77 %

ELD k] %, IND: B End) 2%,
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@ [ K HAAZ : mBq/L
giﬂ,% T;&H‘Ximﬁ_i% ﬁéﬂ‘yﬁgﬂ E (EU’;E“*%%E@ 54Mn 59Fe 60C0 952r 95Nb 13/1CS 137CS Mlce /IOKZ)
2946 7 JI=A R * * * * * * 26
B * * * * * * * % | 20
%0 49 1 12 1 =8 * * * * * * * % | 23
‘%{S;ﬁﬁm g | x| % | ok | ok | ok | x| % | %k | 32
3y,
CINIESATD | g9 4 19 7 7 b L K LK L R | 2 L X L X L X | 2
g * * * * * * * * | 24
04382 A 1=} * * * * * * % * | 25
£ e | % | ok | x| ok | ok | x| x| x| 25
7K
204E6 H7TH | g * * * * * * * * | 24
HRGT  EhT 2049 A 12 H HiEE * %k %k %k %k %k %k %k 20
(R R A 2 O]
PIEBAGEREA) 294212 0 7R | vheg | % | % | % | % | % | & | x | % | 25
0ME3A2HE | HE | ok | ok | ok | ok | ok | ok | k| % | 26
209E6 H 7 H HEE % * * % * % * * | 84
. 2029 H 12 H | E * * * * * * * * | 79
H AENAITIR
YRR
7K 29912 H 7H | thE % * % * % % % * 82
30E3H2H | HE * * * * * * * * | 78
RIS T 2049 A 11 H HEE * * * * * * * * 161
il
=~
R somesmon | mam | = | % | % | % | % | % | % | = | 14
2050 5 11 B 1= * * * * * * * % | 151
5 A DA
ﬁ ﬁ”jg”f%m Bl ok |k |k |k |k | x| x| x| 139
7K GEEF) 1) S04 3 H 2 A 1= S % %k %k %k % %k ES 103
g * * * * * * * % | 104
R T 294£9 A 11 B | T % % % x 3 % 3 k| 162
Wt
(B 304£3H 20 | HE * * * % * * * * | 127
LD k] iE, IND: BHSHT] 2E€T,

E2) UKid, AR TH S,
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@ t= BT : Bq/kg #2+

giﬂ'% *}Téﬂ‘yf@)‘i_i% %\Téﬂ‘yﬁzﬂ E YEIJH/E%%%‘Q 54Mn 59Fe 6OCO 952I‘ 95Nb lfi/lcs 137CS 114Ce 10K2)
294 4 4 14 B JI=A * * * * % % | 88| s | 570
RS * * * * * [10.1] * | 580
JI=A * * * % %k * | 9.6 | % | 570
R 294 7THG6H g )
I HE | % * * % % * | 84| % | 550
TR A 2904 10 5 19 B JI=A * % % % % % | 85| % | 580
g | ok * * % % % | 85| % | 560
JI=A * % % % % ¥ [ 9.3 % | 570
3042 1 H 11 H
E | % % % % % % [10.9]| % | 610
205 48 14 B JI=A * * * % * | 1.1]6.8| % | 527
E | % * * * * * | 6.0| % | 526
204 7H 6 B 1=k * * * * * * | 4.8 | % | 490
RIS T HE | x * * * * % | 4.4 | % | 506
p| # 7 24 10 H 195 =k s k | % | x| % % | 1.8 | sk | 524
i E | ok * * * * * | 1.6 | % | 518
' 1. k| ok | sk % % % | 3.7 % | 530
304 1 H 11 A
hE | ok * * % % % | 41| % | 524
(5%) 9 | 594 11 4 16 B JI=A % * * %k %k % [ 3.8 % | 510
hE | ok * * % % % [ 3.9 % | 530
JI=A * * * * k | 1.4 |11.1] % | 690
294F 4 H 18 H i, -
e | ok * * * : * [12.3] * | 650
I} * % % * * 1.2 [10.5| = 680
NFTALA s | ok * * % %k * [12.1] * | 650
w4 204 10 A 17 B JI=1 % % % % * 1.6 | 14.1| * | 670
E | ok * * * % | 1.5 |11.4| sk | 630
JI=A * * * * % 10.92]10.8| sk | 680
30£ 1 H10H
hE | ok * * * * % [10.0]| % | 660

w1 Tk &, IND:#HEhT) 2R,

E2) YK, BERESEERETH B,

E3) ZHFE COBBIGATCBW T, k29 4F 10 2B/ ThnTWA Z ENHBA L=, Tk 29 4
FEE 4 WHAD HEREUGIT 2 B8 Lz, (CEAk 29 RS 3 B L O 4 RIS THEE 2. )

T 4) 7 3) (SRR OEEHOBRIUBINC B S REMRTH 5.

TE5) 1) ICHEHOLE TR OBRBUEFTIICBIT AHEIEORK R 2B EIZTH LT,
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& BEEY EAAT : Bq/kg A=

gfcﬂ,% *%H‘Xiﬁ]uﬁ% BT%E&QEH E {Eui%rg 54Mn 59Fe BOCO 952r ‘MNb 134CS 137CS 111Ce 13112) /10K3)

RIS 20 £ 10 19 B B P&V ok ok ok | ok | sk * | % /| 71.8

v | FEls |k |k | k| ok | k| % * | k| [69.8
;ﬁ /
2R .

%;&ﬁfﬁm 294105178 8 | % | k| k| %k | % * % * | 72.3

T IR T 295 7 A7 H 1=4 % | ok | ok | sk | ok % |0.013| % 37,7

j\ INTA g | ok | ok | ok | ok | % % [0.015] * /o 138.4
IR T /

” 1£§'Jm1m 84E T HILA | B | % | % | k| k| % | % [o.o015] k |/ |40.9

24N /

Y| i S .0 . 0 O O 0 A Y
S| A F mE | ok | ok | ok | ok | % % % * |7 72. 4
/ﬁ N = —4— //

1;;”%; 299212 H TH| % | k| k| k sk * % * % /1926
[ | e 00 12 1 13 1 1= % | ok | k| ok | sk * |o0.012| sk ! |52.6
x| kB R | sk | sk | ok | ok | ok % |o.o17| x|/ |71.2
R ;
%;k Zﬁ? 29412 H TH| E | sk | x| %k | %k | sk % % % | 78.7
3 !
R 294 4 7 24 JI=R * % * * * * * % /] 30.2
LT g | ok | ok | ok | % | % * * * /130.4
E | s /
;}§ 12”%; 304 1 H29H | #dE | % | % | =k sk * * * %k [ 136.7
Moo JE T 0% 5 1 15 b =8 k| ok | k| % | k| % * % | |35.5
S 57 &l x| k| k| x| % % % * | 36. 0
2| i N I 0 0 0 B O ) .00 R X
Yo wT e | ok | ok | ok | ok | % | sk |oo0s3] % |0 |124.4
PRE——
1;% m;;h 304 1 A 11| T | %k % S %k % * %k * [58.9
FEN A T 12N ) | ok | k| ok | ok * * % | %k |49.5
;E‘{ . 3045 1 A 29 H
H g | ok % %k S k %k * S k| 47.7
U d) ] 204 14 10 B JI=X % | sk | ok | ok | sk k |0.012| % | sk |54.3
7 B 387 e | ok | ok | ok | ok | ok % * * | sk |51.7
TR T 20 11 5 13 B 1=} % | sk | ok | ok | sk % [0.014| % /1330
;73% o E e | ok | sk | sk | sk | ok k |0.012| sk / 133.0
b /
A | 2R 29 11 4 20 H 1A % | k| sk | ok | ok sk |0.021| sk 38.0
I 58T RE | sk | sk | ok S %k k |0.020| % | 40. 2

ELD Tk E IND: ST 2£7,
E2) P OBALL, Ba/L THD,
E3) Kid, AR TH S,
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BT : Bg/kg 4

giﬂ,/% *}T&H‘Xﬂﬂ‘ﬁ% BT%E&QEH E YE\UE%FQ 54Mn 59Fe BOCO 9BZr QBNb 134CS 137CS 111Ce 13112) 10K3)
BT T oo kP | sk | sk | % | % |0.024]0.23 | % 130.2
T‘H e 294E 5 17 H
%R E | k % * o2 EX * 0.24 | * 122.8
I R T
294 5 H2H ol ok | ok | ok | x| % k| 0.11 | = 137.6
==
P S TEN RIS T
El. m? 204 50 8H | i | ok |k [k | x| % | sk |0.21 | % 140. 7
oOR
o it 1A k | ok | % | %k | % k |0.142| % 142. 4
N 294F 4 H 25 H
&4 g | sk ez * * * * 0.13 | * 134.1
351175 JI=8 k | % | %k | sk | %k [0.034]|0.21 | % 138.0
294E 5H1H
JI E g | ok % * * * * 0.16 | % 131.7
JI=A k | % | ok | ok | % * 0.017| % | x | 48.6
204F 4 A 13 A
g | ok % * * % * * * * | 48.8
JI=8 k| % | % | ok | % % % * | % | 47.0
294E 7TH 18 H
)1 Hi e I S I N % * * | %k | 46.2
s JI=8 x | % | % | ok | % % |0.020| % | % |48.5
A 204E 10 H 18 H
g | ok % % % % * %* % % | 47.2
JI=A k| ox | ok | ok | % * 0.018| * | % |47.3
304 1 H 16 A
JE e | ok | ok | ok | % | % % * * | % | 47.1
7L | x| % | % | % | % | % |o.017| % | * | 47.5
294F 4 H 13 H
e | % | ok | ok | ok | % sk * % | k| 45.4
JI=A k | % | ok | ok | %  |0.012| % | x |46.0
294 7H 5 H
BT T N O O N % * | * | 47.4
T+ [1=4 k| ox | % | ok | % % * * | % |45.0
294210 4 4 H
e | % | ok | ok | ok | % % % % | % | 44.5
JI=A k | ok | ok | ok | % % * * | % | 48.6
304 1 H 10 H
e | ok | ok | ok | ok | % % * ; k| 47.3
ED k)%, IND:fHERT) 2F7,

H2) BT oOHAME, Ba/L THD,

£3) “Kix, BARBHMEER TH S,
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® fEEEY

BN : Bq/kg 4

gfcﬂ/% *%Eiﬂﬂ/ﬁ% BT&H&QEH Ei {Eur@%&i 54Mn 59Fe 60CO 9521, QBNb 134CS 137CS 111Ce 1311 40K2)
294 6 H6H | i | k| % * * % * 0.27 | = * | 52.2
p— 294 9 H 11 H | FE | * E % % k | 0.24 | % | sk |56.1
AR
LT H
204E 12 H 40| & | *x % * * % * 0.22 | =% * |69.9
30 3H2H | &E | * % %k % * % |0.157| sk * [53.9
994 6 A 6 H JI=N * % %k * * % 10.101| sk * [63.2
hE | % k| % % % * [0.089| % | % |63.0
29 % 9 5 11 H JI=A * * | ok % % k | 012 | % | sk |72.7
I RIS T = S N A N k| 0.12 | % | sk |74.9
SR 294 12 1 4 H JI=A * % * * % *k [0.070| * * [79.0
\
f R | ok % * * * * 0.11 | =% * |80.5
JI=A * k| % o %k k | 0.14| % | % |58.6
304 3 H2H
F s | ok % * * % * 0.12 | = * | 78.7
294 6H6H | TE | % % * * %k * [ 0.10 | * * | 60.2
% | s 294 9 H 11 H | HE | * % * %k sk k |0.069| % |78.9
AR
il
g 294E 12 A 4 H | FE | * * * * % * 0.11 | = * |80.8
304£ 3 H2H | H%E | * % * * % k10,094 % * | 72.4
JI=A * * | % | % %  |0.059| % | sk |61.4
204F 6 H 12 H
& e | ok % * * % *  [0.033] % * [61.6
Eobs | 294 9 A 4 B 1=A * E * % * |0.069| % | % |81.9
’EE A}:,m RE | ok | ok | ok | ok | % % 10.079| % | % [79.0
L
H. ) 0
(RIFEHIA) (204 12 H 6 B ot B L 2 LR LR L R 10,0921 R 1 % 1852
hE | % E % % % [0.089| % | % |84.9
JI=A * x | & | % * k |0.092| % | %k |77.6
304£ 3H7H
i hE | ok S o sk * |0.064| % | %k [82.1
HE1) T %, IND: B EhT) 2%,
E2) Wik, BRRBESGHEERETH B,
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@ K

AT : mBq/L

U S 4 HEAFEA H HEFE| "Mn | ¥Fe | ®Co | ®Zr | #Nb | ®'Cs | "Cs | "'Ce
WL kD * * * * * 3.3 *
294 5 H 25 H iy - " - * " - "
B
294 8 H 2 H
i R * % * % % % 2.5 %
I * * * * * * * *
20411 H TH | % - " - * " - -
B
3042 2H 8H
HhE * * * * * * * *
294 5 A 25 H g " - " - = * - -
204 8 A 2 H
- i * % * % * * * *
o 2911 H TH & x * * i * : : *
) heE | % * * * * * * *
5% * * * * * * * %
304 2 H 8H -
R * * * * * * * *
294 5 H 25 H JI8 * * * * * * * *
i * % %k %k ES %k %k *
B
294 8 H 2 H
E— R * * * * * * * *
i 20 11 H T I, x| ok | ok | ok | ok | ok | % | %
E * * * * % % 2.9 %
304 2H 8H
g * % * * % % 3.9 %
294 5 H 25 H HE % * * * * % 4.0 %
204 8 H 2 H g * * * * * * * %
FRARAE
204£ 11 A 7H R * * * * * * * %
3042 2H 8H i * * * * * * * *
JI=A * * * * * * 4.0 %
294E 5 H 25 H
E * * * * * % 3.8 *
204£ 8 A2 H
PN g * % * * % % 3.2 %
Ll vk 111 7 I % % % % * * * %
rhEg * * * * * * 2.7 %
304£ 2 A 8 H
E1D T %, IND: BHENT) 2FET,
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AT - mBg/L

T%ﬁi&lﬁ% T%E&ﬂzﬂ El @\UE&EE@ 51Mn 59[:8 6OCO 952r 95Nb lBrICS 137CS Mlce
204 5 A 25 H R kD * * * * * 3.6 *
294 8 H 2 H g % % * * % * * *
AARIE L
204E11 A 7H & % * * * * * * *
304 2 H 8 H HE * * * * * * % 22
2045 H 25 H g * * * * % * * *
Lo B 204 8 H 2 H g * % * % % * 3.0 *
y & g
Hok Ot
204E 11 H 7H R % % * * % % 3.9 %
304 2 H 8 H g * * * * * * * %
204E 5 4 25 H g * * * * * * * *
294 8 H 2 H g % * * * % * * *
Bk A AT
204E 11 A 7H g % % * % * * * *
304 2H 8H HiE * * * * * % % %
U * * * * * * * %
204 5 H 25 H
294 8 2 A LA * * * * * * * *
3 FHER N 4 Shk HE * * * * * * * %
oK Ot 294118 78 1A * % * %k * % * *
g * * * * % % 3.3 *
JI=A * * * * * % 4.6 *
304£ 2 4 8 H
29 5 5 1 25 A JI=A * * * * * % 4.7 *
g * * * % * * 4.2 *
. 2% 8A2H R * * * * * * * *
5 SRk O
294E11 H 7H - * * * x * - x x
304£ 2 4 8 H
E1) Tk i, IND: i &N 2%,
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1K AL : Ba/kg ¥z
?}Téﬂiﬂﬁ,ﬁ% %@H‘yﬁzﬂ El {EUE%E@ 54Mn 59Fe GOCO 95Zr 95Nb 13/1CS 137CS lMce 10K2)
JI=R *D | % * * * * * * 710
294E 5 H 25 H
E | % * * * * % [ 0.85 | % | 690
JI=A * * * * * * % * 720
294 8 H 2 H
)10 B | ok * * * * * * * 700
Al ‘p
JI=A *2 | % * * * * 1.4 * | 840
29411 H 7H
hE | ok * * * * * 1.2 % | 870
JI=8 % % % % % % % % 670
3042 2 A8 A A7
g |k * * * * % [ 0.61 | % | 675
JI=A * * * * * * * * | 590
294E 5 H 25 A -
e | ok * * * * * * * | 682
JI=A * * * * * * * * 730
294E 8 A2 A
. g | ok % * * * * * * | 690
s B[ % | ok | % | sk | % | % | 11| % | 850
29411 H 7H
E | * * * * * % [ 0.63 | % | 740
IR % %k % K % % % %k 670
3042 2 A8 H i
HE | ok * * * * * * * | 640
JI=R * * * * * * * * | 640
294E 5 4 25 A
R | ok % * * % * * * | 590
JI=X * * * * * * * * | 620
294 8 H 2 A
JSp— g | ok * * * * * * * | 613
EER Eo Lok [k [k |k |k [k | ok | x| 640
29411 H 7H
g | ok * * * * * * * | 626
W k | ok |k | ok | ok | % * * | 670
3042 2 A8 A i
B | ok * * * * * * * | 620
294 5 H 25 H | | % %* * * * * * * | 544
294 8 A2 H hE | ok * * * * * * * | 575
FRARTE
29411 H 7H | B | % * * * * * * * | 422
304 2 A8 H FE | ok * %* * * * 1.0 * | 580
JI=R * * * * * * 2.7 % | 720
294E 5 A 25 A
R | ok * % * * * 2.4 * | 690
JI=X % %* * * * * 2.5 * | 680
294 8 H 2 H
hE | ok * * * * * 2.3 % | 680
AT PR JI=A * * * % * % 1.7 * | 710
294£11 H 7H
E | % * * * * * 2.6 % | 690
JI=8 * * £ * £ * 2.0 % 710
304 2 A8 H Q
R |k * * * * * 2.3 % | 700

1D

Pk, IND: RS T) 28T,
E2) "Kid, BRMHEERETH D,
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EEAT : Bq/kg #2.1+

%%H‘yﬂﬁlﬁ% %}T{E‘yﬂzﬂ El @UE%FQ 54Mn 59Fe 60CO 95Zr 95Nb 134CS ]37CS 144Ce 40K2)
294 5 250 | B | x| % * * * * * * | 640
204 8 H 2 H g * * * * * * * % | 637
HAR AL
294611 H 7H | & * * * * * * * % | 630
304 2 H8 H HE * * * % * * * * | 620
2945 A 25 H =R L=ES % * * * % % | 0.54 | % | 574
Lo 294 8 H2 A g * * * * * * * % | 620
y & T
Tk AT
29411 H 7H | &8 * * * * * * * % | 710
304 2 H8H g * * * % * * * * | 592
294 5 H 25 H | * * * * * * * * | 670
294 8 H 2 H g * * * * % * * % | 638
Bk AfF T
29411 H 7H | 98 * * * * % * * % | 740
304 2 8H | % * * * % % % % | 557
JI=R * * * * * * * % | 620
294 5 H 25 A
HE * * * * * * * % | 598
29t 8 1 2 H JI=R * * * * * * * % | 640
3 HRA TN G i | sk | ok | sk | sk | ok | sk | sk | k| 605
HoK D AT 29411 A 7 H JI=X * * * * * * * % | 610
hE | ok * * * % * * x | 597
S04 2 1 8 A JI=R * * * * * * * % | 560
g * * * * % % % % | 569
JI=R * * * * * * * x | 720
294 5 H 25 H
=al=cy % * * * * * * % | 600
JI=R * * * * * * * % | 600
204 8 42 H
i E * * * * % * * % | 620
5 S oK 0T 20115 7H JI=N * * * * % * * x | 710
g * * * * * * % % | 555
JI=R * % * * % % * % | 590
304 2 A8 H
& * * * * % * * % | 560

LD Tk X IND: IS T) 2K,
E2) Kid, AR TH S,
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O WEEEY) BA{T : Bq/kg £
aﬂ% *%H‘yi&‘ﬁ% *}T&Hﬁﬁzﬂ E] {EUET’%E@ 5 1Ml’1 59Fe 60C o 952 T 95Nb 134CS 137CS 111Ce 131I 40K2)
o B kV | ok | ok | ok | sk % 10.073| % 89.3
RBEimdgs | 2944 A 25 H
i | ok | ok | ok | ok | ok % 0.070| sk 102. 8
L o [I=R k| ok | x| ok | ok * * % 53.2
5 R [ 2948 H 10 H
+ g | ok | ok | ok | ok | % % 0.038| 52. 8
R [I=1 k | ok | ok | ok | sk % 10.057| sk 69. 9
,fﬁ”ﬁ 294510 31 B
ST g | k| ok | ok | k| % % 10.059| sk 62.8
[0} - 1 k| ok | k| ok | sk k | 0.15 | % 147. 4
D | HuEE A | 304E 1 H 30 H
y) g | ok | ok | k| k| %k k | 0.15 | % 146. 0
s ) H, | ok | % | %k | % k[ 0.31 | sk 137.7
IS " g 4e g 03 B frn
% AT g | ok | k| ok | ok | sk * 1 0.26 | % 128.1
C GE =} k| sk | k| ok | ok k | 0.14 | % 154.0
%fﬁ% 29411 H 28 H o
J&i1 thag | k| k| k| k| k| ok [0.14 | % 153. 1
iR o JH k| ok | k| ok | sk % [ 0.13 | 129. 7
X | HEEGH (29412 71 15 H
= g | ok | ok | ok | ok | ok k | 0.15 | % 114.0
=3 17 k| ok | k| ok | %k * % % 85.9
X | HEGIEEE | 30452 H 26 H
= g | k| ok | k| ok | ok % * sk 80. 2
& o Bk | sk | ok | ok | k| % * | % 54.7
= | HEEIRSEE | 304E2H 9 H
> g | ok | ok | ok | ok | ok * * % 48.3
Ir
W o =8 - = | = | = |~ - - -
RS -
s HE | | | | — | — - — -
P N I3 s | ok | x| ok | ok % 0.037| % 67.5
X BEWsEY| 2946 H 14 H
mag | ok | ok | ok | ok | % * * % 62.8
v [I=R * | %k | sk % %k * 10.075| k
C miiEr| 29 4 10 4 B 0
% i | ok | ok | ok | ok | ok * [ 0.12 |
I o 1= S T O % 0.034| % 77.6
= | AR Y | 2947 A 10 H
z mag | ok | ok | ok | ok | % * * % 73.7
2 [I=1 % | k| k| ok | sk % * * 18.2
F* |HHBTEHEN| 3041 H 30 A A
= g | ok | ok | k| k| %k * * % 18.9
el [I=1 k| ok | k| ok | sk % * k | sk
M| ARG | 30422 A 26 H
% & | ok | k| ok | k| ok % * k | %k
ELD Tk ik, IND: BHENRT 289,

E2) UKid, AR TH S,
E3) 4 AICERIRTEIZ 7203, ORAIZ LY 8 AfRILE o7z,

E4 TH

BB ERE 27208, R L 0 KRB E 2o 7z,

\z
EDL) 7THIZBRTEE 7208, OHEEICLY 6 AR E -7z,
E6) 6 HIZBBTERE 7228, OHEICLY 7T AR E o7z,
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FrEelel (BErD)

B : Ba/kg #2 1

*%H‘yiﬁ“{_i% *%H‘yﬁiﬂ E' {Euﬁ::%%sg 54Mn 59Fe 60CO 95Zr 95Nb 13/1CS 137CS lMce 10K2)
JI=R x| sk % * * * * x| 432
20494 H 10 B
hE | % * * * * * * % | 425
207 H 7 H JI=R * * * % % * % % 353
1,2 Bk g | % * * * * * * * | 357
Kok At [=X * * * * % * % * | 395
204£ 10 H 4 H —
hE | % * * * % * * % | 400
1A * * * * * * * * | 382
3041 H 15 H
hE | % * * * % % % % | 352
JI=A * * * * % * % * | 302
294E4 A 10 H
g | % * * * % % % * | 295
JI=H * * * * * * * * | 331
5 RO 1 A 2FTHTH hE | % * * * * * % * | 313
7 7 L29$1oﬂ4a JI=A * * * * * * * * | 463
hE | * * * * * * * * | 404
JI=H * * * * % % % k| 283
304£1 H 15 H
hE | % * * * % % % * | 295
JI=H * * * * % % % * | 371
2944 H 10 B
hE | % * * * * * * % | 343
JI=A * * * * * * % * | 367
4 B 1A 2ETHTH HE | % * * * % % % * | 367
7 & L29$10ﬂ4a JI=X * * * * * * * k| 446
' | % * * * % * % % | 451
30451 H 15 A JI=H * * * * * * * % | 282
HhE * * * * % * % k| 281
1=A * * * * * * % * | 340
294E4 A 10 H
hE | % * * * * * * * | 316
JI=H * * * * % * % k| 348
294E7HTH
HE | % * * * * * % * | 377
5 SRR O fFE =1 * * * * * * % x| 370
29410 4 4 H -
HE | ok % * % % % % % | 370
3041 H 15 A JI=K * * * * * * % * | 466
g | % * * * % * * * | 422
ELD Tk %, IND:BHEEnT] 2F£7,

HE2) KX, BAMSFMEETH D,
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A4 BEHEFESHT (X he T H—90)

O EEED

BT : Ba/kg &4

e EREU 4 BRHAEH R I ERE B ) EAE
AENRTIR et I !
R 2 TRk 29410 A 19 B T -
“oK Yoz JEH
e SR 294E 10 A 17 H s *
o DTG T — Ik 0. 0092
SRR e SR 3042 H 9 H = "
m%ﬁﬁ YR 3041 A 11 B i 0. 0099
ATl T . I8 0. 0071
KR i Wk 3041 H 29 A i "
Pz R S o 0.019
I 5351 TR0 1A 10 H 7R 0.017
FE RiTIEE T B JL128 0.113
VR SER% 295 A 17 B e 5o
P R T 20465 A 8 il *
e =
BT SR 29 4E 4 A 25 H $% :
N =1 0.013
TERk 2944 H 13 H T -
. JLo8 0.015
W% 29 4E 7 H 18
- )T PR T8 T HEE 0.018
= SERR 29 4F 10 H 18 H i
P %
NIARY I;IE_\‘ *
TRk 3041 H 16 A E ”
ELD k) %, IND: B ESnT) £,
@ BEELEY Ba/kg A
e TR B 54 BREUEH R I ERES I EME
=] 1 1)
R TR 29 4 1 25 R T o
== =
] %
Lo Aot k2948 A 10 H = ,
g, =
H %
TR AT B R 29 4E 10 A 31 H ﬁi .
R, =
] *
mEZ HugH 5 i FRL 29 4 12 A 15 H ;; :
E=H =
] %
. R T304 2 A 26 H . :
B, =
E] *
WO THRTIRFAE N TR 294210 H 4 B ;; :
E=H =
] %
b R Tk 30452 A 26 H . ,
== =

HELD kg%, IND: HEENnT) 2%,
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v MUF UL
©  REHAKG

. = HIEE (Bq/m*) HIEfHE (Ba/L)
e SRR (KEH P F o A8 | (R L) F LR
29454 H 3 H~2944 A 30 H 0. 0038 0.38
2945 H 1 H~2945 A 31 H 0. 0038 0. 36
2946 H1H~2947H 2 H 0. 0042 0. 41
2997 H3H~294 7 A 31 H 0.0075 0.41
29458 H 1 H~294 8 A 31 H %D *
VIR T 2949 A 1 H~294E 104 1 A * *
S 29410 2 H~294 10 A 31 H % %
294E 11 A 1 H~294F 11 A 30 H 0. 0033 0. 41
294E12 4 1 H~304E 1 A 3 H * *
3045 1 4 H~304 1A 31 H 0. 00096 0.42
3045 2 1 H~304 2 A 28 H 0. 00088 0.38
304 3H 1 H~304 4 1H 0.0013 0.42
294E4 4 3 B~2944 A 30 A * *
29455 H 1 H~294E5 A 31 H 0. 0067 0.61
29F6 H 1 H~294E7 H 2 [ % %
204E7 A 3 H~294E 7 H 31 H 0. 0093 0.63
204E8 A 1 H~294F 8 A 31 H 0. 0089 0.53
I T 2999 A1 H~29% 10 A 1 H 0. 0070 0. 52
SAL) 294210 A 2 H~29 410 A 31 H 0. 0074 0.64
29811 A 1 H~294F 11 A 30 H 0. 0054 0.75
294E12 4 1 H~304E 1 A 3 H 0. 0023 0.61
304 1H 4H~304 1H 31 H * *
3048 20 1 H~304F 2 4 28 H 0. 0027 0.74
304 3H 1 H~304 4 H 1 H 0. 0035 0. 64
2944 A 3 H~2944 A 30 B 0. 0043 0.41
294E5 H 1 BH~2945 A 31 H 0. 0050 0.48
2946 H1H~2947H 2 H 0.0100 0.63
2947 H 3 B~294FE 7T A 31 A * %
2948 A 1 H~294F 8 A 31 H * %
CERTIE T 2949 H 1 H~294 10 41 H * *
¥ 5% 294F 10 A 2 A~29 4 10 H 31 H * %
294E 11 H 1 H~294F 11 A 30 A 0. 0034 0.43
29412 4 1 H~304 1 A 3 H 0.0012 0.33
304 1A 4 H~304 1 A 31 H 0. 0021 0. 50
304 2 1 H~304 2 A 28 H 0.0017 0.67
304E 3H 1 H~304 4H 1 H 0.0012 0.33

ED Tk,

IND : B S 4vd ) 2R T,
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. - B EAE (Bg/m*) HIE 8 (Ba/L)
PR . KGR U FOLRE) | GREAT MY 7 AR5
2944 A 3 H~2944 H 30 H 0. 0046 0.55
2945 A 1 H~2945 H 31 H %1 %
2946 A 1 H~294£7 H 2 H 0. 0076 0. 54
204E 7T H 3 A~294E 7TH 31 A % %
2948 H1H~294 8 A31H 0.011 0.68
HEHITIGS 7 2049 H 1 H~294 10 H 1 H % %
£/ 294E 10 H 2 B~294E 10 A 31 A 0. 0073 0.57
295 11 A 1 H~294 11 A 30 H 0. 0041 0. 54
29412 H1 H~304 1 A 3H 0. 0039 0.92
304 17 48~304 1 H 31 H 0. 0036 0. 87
3042 24 1 H~304 2 H 28 H 0. 0035 0. 87
3042 3H 1H~304£ 4 A 1H 0. 0051 0.72
2944 A 3 H~2944 H 30 H 0. 0061 0. 74
2945 A 1 H~294E5 H 31 H 0. 0052 0.57
2946 A 1 H~2947H 2 H 0. 0085 0. 50
29T H3H~294 7T H31H 0. 0076 0. 47
2998 A1 H~294% 8 A31H 0. 0067 0. 37
igg 2999 A1 H~29% 10 A 1H 0. 0044 0.35
(ot A Hl ) 204F 10 H 2 H~294 10 A 31 H % ES
204E 11 H 1 H~294F 11 H 30 H 0. 0026 0.35
291241 H~304 1 A3H 0. 00065 0.31
304 1H 4H~304 1 H 31 H % *
304 2H 1H~304 2 H 28 H 0.0011 0. 43
304£3H 1H~30F 44 1H 0. 00091 0. 42
D Tk, IND:BEST) 2E£T,
@ K BN : Bq/L
Bt PREUH R4 BEEEA R I E R RS I EAE
2946 A 7 o *
i 0.63
B 2949 H 12 H R 019
ok EFE T T (5 *
(RFNNIRIAKE) 204 12 5 7 H 153 0.35
P *
3043 H2H R *
g 0. 64
ED Tk %, IND: R EnT) 289,
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© K

EEAT : Bq/L

R H M S 4 BEUEAH T E R BE T E i
2945 H 25 H g * D
2948 A 2 H hEE *
ARG
204E11 A 7H R 0. 60
304£2 A 8 H fEE E S
204E5 H 25 A hE *
294E8 4 2 H R 0. 56
1,2 S
Hok B
29411 8 7H g 0. 58
3042 H 8 H e *
294E5 H 25 H hEE *
2048 A 2 H g 0.53
Bk A AT
20411 H 7H i k
304£2 A 8H g S
[ *
294F 5 A 25 H
5 g *
B
2948 A 2 A - 030
3 SHE KON 4 54k g *
oK AR 1=} *
29411 4 7H
g *
JI=A *
304£2 A8 H
FhEE *
B M
294E 5 H 25 H = *
28 *
2948 A 2 H
8 FhEE *
5 SRk AT
7 = 294611 H 7H R o
FHEE *
B
3042 A 8 A % *
R *

ELD k) %, IND:BEEnT) 2F£7,
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-1 HIESR
HETE I ERERS WERE (BELOFRE L EHEE) FEIEAE H
Nal (T1) BUZSRE 4 L~ R e & 29 4E 6~9 H
[} ASIT B h AT ¢ 77 ML 3L 50— P A g 7 T8 29 4F 12
—_— (5 JaIE I 15 E P AERRY) HA~304 3 A
% LS Nal (Tl)@%ﬁaﬁ{b“ ‘/ﬂ%i{ﬂﬂﬁ%\p ‘ | 09 4 10~11
it WE | BT 0l AT 4 B VR o oL — R A B O30 4R 3
il A
’%? LE'R %i‘ﬁﬁ?m’%iﬁ%ﬁz CAGC T2 7 7T AL SC-1 299 A
I WA T ARREEFCER « AGC T 7 2 75 AWREL FGD251
PR | EIH T ARERFEA  ACC T /7T A SC-1 5042 A
TE | e AR BEHTETEEE : AC 77 / 7' AL FCD201S
" ImSg) + T T AF v 7 FL—FMT LT i e R—Z i 29 4 9 H KN
ETANT 7 & 2 [FIFRFRESEE - R TR S-2868S1Z 304E2 A
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